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Year 6 :
Lomg Multiplication
22 2 2 1

= 31 = 4 B = 5
Prime Mumbers
Circle She prime nomber in each set,
ay 12, 17, 18, Z1. dyaE. TI1_ 72, 7H
bl 31, 32, 33, 34, e} 35, 93,81, B3,
ey 57, 58, 59, a0, 180, Sa 97, 99,

Mumber Pattcrms
Weark cut the Ffifth numser in 2och pattern,
al2.4%. &6, 8

B S, 10 15, 20,

=14, 12, 20,28

g 2.4 8, I,

Balancing cquations

b BEG L]
5 =3 2 =45

gl 3468, 3463, 3470, 3472,

R} Caleuiate the sum of all the
prime numbers etween 10 ard 300

Weark cut the terth numEser in each pattern,

a) 20, 40, &0 ..
Nk renker

bl2.4,9, 16, 25

Hith s eder

£} ¥, 18, 27, 346..._..

d} 500, 475, 450, 425

1%k rasrber

Foa mare

B2 =& =520~ ____ —— ¥ 6 =30+ 100 informoatan about
IS5 x5 = 35 « 17 = = 10D - 40 prime numbers go
Ta
00 x & = 500+ = 5= 8010 htTp:/ fprimes utm
i
45 x &6 = S0 - 45 x__ =Bl x5
= I Rermermber To ask
SE w8 s 4 D B = - 280 yaur parents st
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